sample;1-151$

read;nvar=14;nobs=151;file=C:\Users\cbr95\Box\UDrive Data_flm\00Work-Purdue\new_laptop\CE697N_files\TRT.OUT.txt$

create;speed=(x5/10)/(x1/60)$

dstat;rhs=speed$

create;if(x2=3) frwy=1$

create;if(x2=1) art=1$

create;cage=86-x13$

regress;lhs=speed;rhs=one,frwy,art,cage,x6,x3$

create;if(x2=3)frwytl=x4$

create;if(x2=1)arttl=x4$

dstat;rhs=frwytl,arttl$

regress;lhs=speed;rhs=one,frwy,art,cage,x6,x3,x5,frwytl,arttl$

create;if(x2=2)rurtl=x4$

create;if(x8<3&x9=1)youngm=1$

regress;lhs=speed;rhs=one,frwy,art,cage,x6,x3,x5,frwytl,rurtl,youngm$

create;if(x9=1)maleage=x8$

histogram;rhs=maleage$

